

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly, WEST BENGAL UNIVERSITY OF TECHNOLOGY)

Main Campus: Haringhata, Nadia, West Bengal

Kolkata Office: BF-142, Sector -I, Salt Lake City, Kolkata -700 064

Phone: +91 33 2321-0731, 2321-1327 # Fax: +91 33 2321-7578, 2334-1034

Website: www.makautwb.ac.in

PAN: AAAJW0063D # GSTIN: 19AAAJW0063D1Z9 # TAN: CALW02602F

DRAFT NOTICE

Tender Notice: MAKAUT-WB/23-24/Lab Infrastructure & FS&T /065

Date: 21.12.2023

Notice for inviting quotations for Civil Works from the different vendors for Harnighata campus of the University. Important Dates:

Sl. No.	Particulars	Publishing date(s)
1.	Date of N.I.T. and Tender Documents (Starting)	21.12.2023
2.	Bid Submission Starting Date	21.12.2023
3.	Bid Submission Closing Date (online)	29.12.2023
4.	Technical & Financial Bid Opening Date	02.01.2024

TECHNICAL SPECIFICATIONS OF THE ITEM

Sl. No.	Item	Description
1	CIVII Work	Setting up Laboratory Infrastructure for the Food Science & Technology Workshop No: 2 and Workshop 05 MAKAUT,WB, Haringhata Campus, Nadia Estimate No: UW-C-MAKAUT-WB/ENGG-35/2023-24 and Date: 14.06.2023

General Conditions:

- 1. The Bidder should be a registered firm under prevailing rules having an office in West Bengal, preferably in Kolkata and will provide essential registration numbers like TIN, GST, PAN/TAN etc.
- 2. The University reserves the right to accept or reject any tender without showing any reason.
- 3. Venders should be submitted the following tender documents, otherwise the Tender are to be treated as incomplete Tender. Incomplete Tender will summarily be rejected.
- 4. Subcontracting in any form will not be allowed by the University.
- 5. Warranty shall be for Thirty Six Months after installation and completion of the job.
- 6. All legal disputes shall be subject to the jurisdiction of Calcutta High Court.
- 7. Deduction of 10% Security deposit shall be treated as per rules.
- 8. Sealed quotation to be submitted/ delivered into TENDER Box of Engineering Section, within 16:00 hours on 29th December, 2023 at the address mentioned below,
 - "Maulana Abul Kalam Azad University of Technology, West Bengal, Ward No.08, Post Simhat, PS- Haringhata, Nadia 741249."
- 9. Any dispute which may arise between the parties hereto in respect of this AGREEMENT shall be referred to the Vice Chancellor of the University whose decision shall be final and irrevocable.

I. Cover containing the following documents:

	over commenting con-	Tono Hing Gottinen			
Sl.No.	Category	Sub-Category	Sub-Category Description		
A.	Certificates	Certificates	1. Trade License (Latest)		
			2. PAN Card		
			3. GST Registration Certificate		
			4. Professional Tax Registration Certificate		
			5. Others (as available)		

Sd./-Registrar, MAKAUT, W.B.



MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly, WEST BENGAL UNIVERSITY OF TECHNOLOGY)

Main Campus: Haringhata, Nadia, West Bengal

Kolkata Office: BF-142, Sector -I, Salt Lake City, Kolkata -700 064

Phone: +91 33 2321-0731, 2321-1327 # Fax: +91 33 2321-7578, 2334-1034

Website: www.makautwb.ac.in

PAN: AAAJW0063D # GSTIN: 19AAAJW0063D1Z9 # TAN: CALW02602F

	GENERAL ABSTRACT OF COST				
PROJECT TITLE:					
Sl. No.	Description	Amount (Rs.)			
1	Cost of civil works (Part- A)	43,081.44			
2	Cost of Electrical works (Part- B)	24,285.00			
3	TOTAL (Rs.)	67,366.44			
4	Add GST @18% on Sl. No.3	12,125.96			
5	SUB TOTAL (Rs.)	79,492.39			
6	Labour welfare cess @1% on Sl. No.5	794.92			
7	SUB TOTAL (Rs.)	80,287.32			
9	GRAND TOTAL (Rs.)	Rs. 80,288.00			

BOQ

SETTING UP LABORATORY INFRASTRUCTURE FOR THE FOOD SCIENCE & TECHNOLOGY WORKSHOP NO.-02 AND WORKSHOP NO.-05, MAKAUT, HARINGHATA CAMPUS, NADIA, WB

Estimate No: UW-C-MAKAUT-WB/ENGG-35/2023-24 and Date: 14.06.2023

BILL OF QUANTITY

Sl. No.	Description of Items	Unit	Quantity	Rate	Amount
1	Ref. PWD Schedule-Page No- 63 Item No- 34 (3rd Corrigenda & Addenda) Supplying, fitting & fixing granite slab 15mm to 18mm thick in floor, lobby, stair, landing and treads etc. over 20mm (avg) thick base of cement morter (1:2) laid with white cement slurry @ 4.40Kg per Square meter before placing of granite and jointed with white cement slurry @ 2.0 Kg per square meter with necessary pigments and complete as per direction of Engineer-in-charge including cost of all materials, labours, curing and roughening of concrete surface complete. In ground floor (b)Area of each Granite slab 0.6 to 1.0 Square meter. (Workshop No 05)	Sq.M.	10.263	2774.00	28469.56
2	Ref. PWD Schedule-Page No- 23 Item No- 55 Extra cost of labour for prefinished and premoulded Nosing to treads of steps, railing, window sill etc. of Marble Stone.	Meter	15.55	258.00	4011.90
3	Ref. PWD Schedule-Page No- 143 Item No- 19 (ii), S&P SCHEDULE Door stopper (Anodised aluminium)	Each	2	70.00	140.00
4	Ref. PWD Schedule-Page No- 243 Item No- 9 (i), S&P SCHEDULE Supplying bubble free float glass of approved make and brand conforming to IS: 2835-1987. i) 4mm thick clear glass.	Sq.M.	7.437	398.00	2959.97
5	Non Schedule Item: 3 Way Swan neck Water Taps: • Taps are made from high quality Brass Forging Grade as per IS: 8737 2007 & Machining grade as per IS: 319(I) material to avoid & leakage. • Taps are Powder Coated with Full Glossy Epoxy Fusion Bond & are available in Grey Colour. • Taps are tested in Pneumatic Test at 30 PSI, in Hydraulic Test at 500 PSI to avoid leakage. • Goose Neck Spout: 360 degree Swing with Brass	Each	3.00	2500.000	7500.00



MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly, WEST BENGAL UNIVERSITY OF TECHNOLOGY)

Main Campus: Haringhata, Nadia, West Bengal

Kolkata Office: BF-142, Sector -I, Salt Lake City, Kolkata -700 064

Phone: +91 33 2321-0731, 2321-1327 # Fax: +91 33 2321-7578, 2334-1034

Website: www.makautwb.ac.in

PAN: AAAJW0063D # GSTIN: 19AAAJW0063D1Z9 # TAN: CALW02602F

	headwork: Full turn; Life Cycle Test: Upto 5,00,000 Cycles. • Water Static Pressure Max: 14 Bar Product Details: Usage/Application: Laboratory Water Taps Material: Brass Shape: L Type Features: 360' Swing Goose Neck Spout with Brass Headwork Color: Grey Inlet Connection: 1/2" BSP (3/8" BSP available on request) Gasket / 'O' Ring: Nitrail Rubber Powder Coating: Epoxy Fusion Bond In Grey Colour Knob: Polypropylene Center Distance: 6" (150mm) / 8" (200mm) Workshop No 02 & Workshop No 05				
	Workshop No 02 & Workshop No 03			Total Amount	Rs. 43,081.44
					Electrical works)
Sl. No.	Description	Unit	Qty	Estimated Rate (Approx.)	Total Cost (Approx.)
1	Supplying & Drawing 1.1 KV single core stranded 'FR' PVC insulated & unsheathed single core stranded copper wire (Brand approved by EIC) of the following sizes in the prelaid polythene pipe and by the pre-laid GI fish wire and making necy. Connection as required [polycab/Mescab/Havells]				
a	2x56/0.3 (4 sqmm) + 1x36/0.3 (2.5 sqmm) as ECC	Mtr.	100	96.90	9,690.00
b	2X36/0.3 (2.5 sqmm) + 1X22/0.3 (1.5 sqmm) as ECC	Mtr.	50	66.30	3,315.00
2	Supply & Fixing 240 V, 2 nos. of 16/6 A, 3 pin Modular type plug socket (Brand approved by EIC) with 2 no. 16 A Modular type switch, without plug top on 6 Module PVC Modular type switch board with 6 Module top cover plate flushed in wall incl. S & F switch board and cover plate and making necy. connections with PVC Cu wire and earth continuity wire etc(For Computer socket.)(Legrand/Havells/ROMA)	Each	12	940.00	Rs. 11,280.00
				Sub-Total	Rs. 24,285.00



Name: ______

Address: ______

Contact No: ______

GSTIN: _____

P.Tax Registration No. (If any): _____

PAN:

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly, WEST BENGAL UNIVERSITY OF TECHNOLOGY)

Main Campus: Haringhata, Nadia, West Bengal

Kolkata Office: BF-142, Sector -I, Salt Lake City, Kolkata -700 064

Phone: +91 33 2321-0731, 2321-1327 # Fax: +91 33 2321-7578, 2334-1034

Website: www.makautwb.ac.in

PAN: AAAJW0063D # GSTIN: 19AAAJW0063D1Z9 # TAN: CALW02602F

FORMAT FOR	QUOTATION SUBMISSION
I OILLIII I OIL	

(In Letterhead of the Contractor with seal)

				Date:		
:						
Sl. No.	Description of Works (with full Specifications)	Estimated Cost	GST		LWC	
110.		(A)	In %	In figures (B)	In %	In figures
	Total Cost					
	I agreed to execute the work at	Words		%) abov	e/ below/	at per of the
	We agree to execute the above work in according Rs(Amount in figures) (Rupees – Invitation for Quotations.					
3.	We confirm that the normal commercial warranty/ gu also confirm to agree with terms and conditions as mer				e offered	works and we
4.	All pages have been singed in token of acceptance of the	he same.				